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1.

SR TM 100 Urae, 25 qrae Telt firfae § =i, 200 T, 50 9EA THT 30 Yehg oFTH ATeiel |
200 T, 1000 TTaet Tt S7et A" S =lelell g e TlF U U Hiel 378 a1 19
Torenitrer e et J23a =reta ¢

(1) 8 fafe (2) 12 fufe

(3) 16 fafre (4) 20 fife

If Ram covers 100 steps, at the rate of 25 steps per minute, 200 steps at 50 steps per

30 seconds and 200 steps at 1000 steps per half an hour and if his every step
measures a meter how much time would he take to cover half a kilometer ?

(1) 8 minutes (2) 12 minutes
{3) 16 minutes (4) 20 minutes

2. TH FRM 2,000 TEE F9 4 T WA Fd 9 ThF g0 1 w1 eiigdn 50 &, SR
o=, & afeet gwar fondt waam=n g 7
(1) 375 (2) 425 (3) 475 (4) 525
A person borrowed a loan of Rs. 2,000 and paid back in 4 instalments. Each instalment
is more than the previous instalment by 50 Rs. then what is the amount of first
instalment he paid ?
(1) 375 (2) 425 (3) 475 (4) 525

3. TR 72T 4 T AR T 66 AR T A A=Al degedTd W] HeATHl aeh! ot
s 7
(1) 16 (2) 24 (3) 22 (4) 18
The sum of 7 times and 4 times of a given number is 66 then, what is the result if the
second figure is subtracted (instead of adding) from the first ?
(1) 16 (2) 24 (3) 22 (4) 18

4, 0.004x0.5=7
(1) 0.00020 (2) 0.0020 (3) 0.0200 (4) 0.2000
0.004 x0.5="?
(1) 0.00020 (2) 0.0020 (3) 0.0200 (4) 0.2000

5. T Tl 40 fereneat=n garh quadl 10 98 R, SR fieers = faeneat=a gam frafadt &
TuEd 11 Ad. W e 99 Tt 7
(1) 51 (2) 509§ (3) 48T (4) 45
In aclass, the average age of 40 students is 10. If teacher’s age is added to student’s
age, then the average becomes 11. What is the age of the teacher ?
(1) 51 Years (2) 50 Years (3) 48 Years (4) 45Years

FHoodl HIATETE! AITT/SPACE FOR ROUGH WORK - P.T.O.
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6. THRiv=aT 2 FIATN a8 62.6 333 aNfir 56.7 AW ARd. W =T fdg=m KA A Tt ?

(1) 118.3 3™ (2) 14.3 & (3) 60.7 =W (4) At A
Two angles of a triangle are 62.6° and 56.7° then what is the third angle of the triangle ?
(1) 118.3° (2) 14.3° (3) 60.7° (4) None of the above

7. (15-2%=7

(1) 221 (2) 169 (3) 13 (4) TRt e
(15-2)* =7
(1) 221 (2) 169 (3) 13 (4) None of the above

8. B0 I TEIH TR WM 3 Wil ) uieeanre) 3 frafam, o= 3 3= . fog=nen 34 et @
e 3 3 AFTe ) g9 I TUH Add. =R WY qdid e[ WF 5 AR o watd 7iar Wi
Torelt argm ?

(1) 45 (2) 50 (3) 55 (4) 60

The number 80 is divided into four so that if 3 is added to the first, 3 is subtracted from
the second, the third is multiplied by 3 and the fourth is divided by 3 all give the same
value. The lowest nhumber is 5, what is the highest number ?

(1) 45 (2) 50 (3) 55 (4) 60

9. U G JEA! HeWM Tk 50 Hi. 39 T-4T=a1 qTFS Wal. S HAI=greal a1 SIhTTgs
HEMPTERIS S HiZRiee TR 3a4d S 30° 3101 60° ATYTe 377ed. X w41 219 Hlerineie Jat
Hier 78,

300
(1) 10%‘/5 @ = @ 5 @ 30?;[5

A straight highway leads to the base of a 50 meter tall tower. From the top of the
tower, if the angles of depression of two cars on the road are 30° and 60°, then the

distance between the two cars is m.
100+/3 100 300 300-/3
(1) — @ 3 ® 7 @ =5
10. W@relieids vt g guf aif g ?
(1) 6242 (2) 6248 (3) 6241 (4) 6243
Which of the following numbers is a perfect square ?
(1) 6242 (2) 6248 (3) 6241 (4) 6243

THoedl HWMETS! WRIT/SPACE FOR ROUGH WORK
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1. Gl e gl + 3 - & g 89 2 =117 4 30 gear sEamEed Fe) o Sivd aeim
TR g ?
(1) 2+44+3=3 (2) 4+2+6=15 (3) 4+2+3=2 (4) 2+4-+6=8
In the given equations if the signs + and . as well as numbers 2 and 4 are
interchanged, then which of the following equations would be correct ?
(1) 2+4+3=3 (2) 4+2+6=15 (3) 4+2+3=2 (4) 2+4+6=8

12, TR Hivedt qaiaTdiel T 3atcal - AT ?
(1) ¥6,%5,32 (2) ¥5,46,%2
(3) 46,%2,%5 (4) /5,%2,46
In which of the following alternatives the numbers are in the descending order 7
(1) ¥6,%5,32 (2 %5,96,32
(3) ¥6,¥2,%5 (4) ¥5,%2,46

13. 5™ . 53 — 55 a1 gHETTHiE m < Thaa FrEn.
(1) 2 (2) 3 (3) 5 (4) 8
Find the value of m in the equation 5™ + 572 = 5°
(m 2 (2) 3 (3) 5 (4) 8

14, (x® + 3x) (x — 3)x anifor x2(x*-27) = a.afa. B,
(1) x%(x +3) (x - 3) (2) x(x -3)(x*>-27)
() x3(x®*-9)(x* +3x +9) (4) x(x-3)(x*—3x+9)
L.C.M. of (x* + 3x) (x - 3)x and x?(x* - 27) is
(1) x*(x +3)(x—3) (2) x(x -3)(x*-27)
(3) x2(x2-9)(x®+3x+9) (4) x(x-3)(x%2-3x+9)

15. ol GASHE! Guei 43.7 Thell dige 12 & vt fhell w0 qua fawa vaen. =t @ 152 wiw
RTAE THIHTOE 1T, T el saadten fesreiedn qigeare fhua fondt ?
(1) 30.40%. (2) 3.45%. (3) 12.60%. (4) 16.80%.
A social service group bought 43.7 kg. of rice at Rs. 12 per kg and distributed it equally
among 152 poor people. What is the cost of the rice that each person got ?
(1) Rs. 30.40 (2) Rs.3.45 (3) Rs.12.60 (4) Rs. 16.80

THoedl HIATATS! AET/SPACE FOR ROUGH WORK P.T.0.
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16.

6 O
280 TTTIREHTT T3S Wl 3.6 T.Hi. IR, W 630 WEATERIAT TagurHl st et ?
(1) 8.0, (2) 8.13.7,
(3) 7.87.4. (4) 7.53.1.

A stack of 280 question papers has 3.6 cms thickness. How much thick would the
stack be of 630 question papers ?

(1) 8.0cm (2) 8.1ecm
(3) 7.8cm (4) 7.5cm
69.696
17. SR 484 x 144 = 69696, ™ =7
14.4
(1) 2.2 (2) 2.22 (3) 4.84 (4) 48.4
If 484 x 144 = 69696, th JGQ'G%—?
4 x = 69696, then a4 =
(1) 22 (2) 2.22 (3) 4.84 (4) 48.4

18.

S 1,570 %. arafert. afgam Sfiden 1,936 5. snd arafad. @ = v frdt 73 amfa ?
(1) 3506 (2) 5076 (3) 4567 (4) 8576

Jatin saved Rs. 1,570. Savita saved Rs. 1,936 more than Jatin. How much did they
save all together ?

(1) 3506 (2) 5076 (3) 4567 (4) 8576

19.

TohT G 8 3 TUTet 49T AT AU Seaed s 99 firefae @t aifiw s 171 3. W wen
FHIor ?
(1) 8 (2) 9 (3) 10 4) 7

If a number is multiplied by 8 and to the muitiplication 99 is added, the answeris 171.
What is the original number ?

(1) 8 2) 9 (3) 10 4) 7

20.

TANA €. 2.75 Yl GHET IR 50 FHE WE Thel W Angst 68.75 Wt et firan
et 318 T e T foren fuer fireredt srae ¢
(1) Yskg () 1kg (3) 1Y%kg (4) 2kg

Santosh bought 50 Samosas at the rate of Rs. 2.75 per Samosa. Instead had be
brought sweets at the rate of 68.75 Rs. per kg. How much of sweets could he have
bought ?

(1) Yokg (2) 1kg (3) 1Ykg (4) 2kg

HoT HIATETS AT /SPACE FOR ROUGH WORK
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21. rarEen fehdt W7 AR Al ?
M % @ )% @ ¥ @ %
How much of atmosphere is formed of Nitrogen ?
m % @ % ® ¥ @ %
22, ‘“dfig St Wb, Wiefieieh 19 Ui Al ?
(1) SHET=T Tel-=1 9T
(2) TG FreRATIRET AT
(3) T @a 9 R AT
(4) Ao FEE T
Which of the following is not expected in ‘Organic farming' ?
(1) Use of animal excreta
(2) Use of botanical insecticides
(3) Use of chemical fertilizers and insecticides
(4) None of the above
23. U= T TEy B
(1) = g0 Sfefta seraE (2) s shifiudies IMeRm e
(3) &YAT TR ST SEIEE (4) IR T
Infection by the causes AIDS.
(1) Human immuno-deficiency virus (2) Human initiative deficiency virus
(3) Human immuno-dangerous virus  (4) None of the above
24, AT USITETE WATCIIsh] VT 92k TATEEH 3R ¢
(1) CO, (2) CH, (3) H,S (4) NO, arfor SO,
Which factor is responsible for Acid rain ?
(1) CO, (2) CH, (3) H,S (4) NO, and SO,
25. gt AT sgcean getamse fHiad ms
(1) Stafafee (2) Siawme
(3) <= TIH (4) 9 WREFIE
The variety that we see in the living things that exists on the earth is called
(1) Bio-diversity (2) Biology
(3) Biotechnology (4) Biochemistry
Hoed] HIUTHTS! AR/ SPACE FOR ROUGH WORK P.T.O.
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26. TESNH T Yz e w7
(1) TTHESISH=AT SV hgehld g Aal
(2) TGS HUAT hEHIA ggid Taal
(3) BTAGIS=AT ThehTd Uehdl Wi FHat
(4) THGIH=AT Theahidd] TRYAY FUR S e I8aT
What is the characteristic property of the hydrogen element ?
(1} The nucleus of hydrogen contains neutron
(2) The nucleus of hydrogen doesnot contain neutron
(3) The nucleus of hydrogen does not contain proton
(4) Two electrons are revolving round the nucleus of hydrogen
27. TRAHRE THISHE TEUH F1 ATHAR
(1) HaTH (2) arErfRm
(3) = = (4) SO FiEE e
What is used as refrigerant ?
(1} Freon (2) Ammonia
{3) Both the above (4) None of the above
28. TR 16 Q VY W =R U= gaiaT Sevft a1, o= werrear 9R Ul wwed) @antt
Srgvft dearg Tger TR Ty Tt ?
(1) 2Q (2) 40 (3) 80 (4) 16Q
Four resistances of 162 each are connected in parallel. Four such combinations are
connected in series. What is the total resultant resistance ?
(1) 2% (2) 4% (3) 8Q (4) 16
29, FEWHE ot TIE W FHivd ?
(1) wfim (2) “heliesh
(3) e (4) <faroE
What is the main source of energy in our diet ?
(1) Proteins (2) Carbohydrates
(3) Fats (4} Vitamins

FHoedl SHIHTATE! ATT/SPACE FOR ROUGH WORK
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30. SfEAEm a1, 9, &, % I T nTETS B T, e And Sreen s
(1) 31 - TdARIoT, 9 -
F - @, * - TheRl
(2) 31 - TAAHDIm, o - Thedl
F - S, F - A
(3) 31 - TdTUSTOT, T - e
& - Thed], F - TEE
(4) 31 - TN, § - Thed]
F -~ I, % - e
Choose the alternative giving Vitamins with their correct deficiency diseases
(1) A — nightblindness B - beriberi
C - haemorrhage K — scurvy
(2) A - nightblindness B — scurvy
C - beriberi K — haemorrhage
{(3) A — nightblindness B - beriberi
C — scurvy K — haemorrhage
{4) A - nightblindness B — scurvy
C - haemorrhage K — beriberi
31. a1 wErgten Sedid faga am 3 favare I SR Ao Fed o 9t et
a0 T 7 VU o R Tea A
(1) e (2) (3) sfeyfufram  (4) =
For the graph of current and voltage is not a straight line and value
of resistance is not constant.
(1) Thermistor (2) Copper (3) Aluminium (4) Silver
32. e T8 g .
(1) CH, 3 C,Hq (2) CH,3CO,
(3) CO,d CyHq (4) CoHgd N,O
Green house gases are
(1) CH,and C,Hg (2) CH, and CO,
(3) CO,and C,Hg (4) C,Hgand N,O
oA HIMTATE! WIT/SPACE FOR ROUGH WORK P.T.O.

A
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33. 20 79 SwE 1600 Feri Iwmn feeae @ sfon aomE fedt age ?
(1) 0°C (2) 10°C (3) 20°C (4) 5°C
What will be the final temperature if 1600 cal of heat is given to an ice block of
mass 20 grams ?
(1) 0°C (2) 10°C (3) 20°C (4) 5°C

34. R T YT AT 9T HI T RSl smwa, SR Hied UITE STe
(1) T YSOAT ISAT THROTTAT ST Higd
(2) TR ISUTAT ISHT TR GUE(dd shid
(3) THTAT ISUIT=AT ISAT YRVMET AT hid
(4) TITER TSUMTYT ST FIOAT I Hd
The inner surface of the solar cooker box is painted black, because the black
surface

(1) emits the incident heat radiation

(2) reflects the incident heat radiation
(3) refuses the incident heat radiation
(

4) absorbs the incident heat radiation

35. SR FaTea i Wha W 25 G YT §ET gvmEEade g a1 W, . 3R wmg
SEfa Fars wgwy A fohd) i, . a8 ?

(1) 0.25 (2) 0.04 (3) 25 (4) 1.25
On Vernier scale of Vernier calliper there are 25 lines and on main scale smallest
division is 1 mm then least count of Vernier calliper is

(1) 0.25 (2) 0.04 (3) 25 (4) 1.25
36. ek S UTE goioh o WiSF SAfavard =1 I9AT FAT.
(1) Wfgem FEMe (2) WfzIW ArEFEHE
(3) FoellaTd HET (4) sclifem gEet
is used in the preparation of cakes and bread to make them light and
spongy.
(1) Sodium carbonate (2) Sodium bicarbonate
(3) Calcium carbonate (4) Bleaching powder

HET RIHTHIG! JAHTT/SPACE FOR ROUGH WORK
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37. ozeaTET A9 € faeagsen w4 st 7 o
(1) =woriE (2) 3IeEH
(3) T (4) e
An atom of element is electrically
(1) Negatively charged (2) Neutral
(3) Positively charged (4) Conductor
38. o Uil eI Ve ST TERUTEA SSE SR
(1) Hegeit (2) T
(3) GhIst (4)
Cell wall of fungi is made up of tough and complex sugars cailed
(1) Cellulose (2) Glucose
(3) Sucrose (4) Chitin
39. WIEiceh! SRIvTe I SrTT giva o1 o gfva aroft gm e i 7
(1) TARES (2) &=
(3) G (4) A
Which disease is contacted by ingestion of contaminated food or water ?
(1) Typhoid (2) Tuberculosis
(3) Rabies _ (4) Polio
40. Grcedsh] IS T T} Shivrar ¢
(1) wwe (2) Fear® (3) 9= (4) =m
Which of the following is a flying mammal ?
(1) Parrot (2) Bat (3) Owl (4) Kite
41. 3. 4. 1857 =1 339 Ay Teve TR B
(1) fg-gfeem (2) wusr-fr
(3) sfero-yfeem (4) Sfery-wan
The ‘Revolt of 1857 A.D.’ prominently revealed unity.
(1) Hindu-Muslim (2) Maratha-Shikh
(3) English-Muslim (4) English-Maratha
THooA HTHTATS! ART/SPACE FOR ROUGH WORK P.T.O.
A
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42. 3.9. 1857 =1 I3EM ARHIeAR FHTOT BNl
(1) TS 9 ganl Tt e Tt SISgETE ITET
(2) o EEUH GIE FH0
(3) Tav=a wd wam =
(4) Ueear, IR N YvH @ w0

The immediate cause of the revolt of 1857 was the

(1) Use of cartridges greased with cow fat and pig fat
(2) Annexation of several states

{3) The spread of Christianity

{4) Abolition of titles, vatans and pensions

43. 3. 9. 1857 <A1 ISEH HIVET JHEH TRATH! Tl ST Ui TEAaid Hoam el ?
(1) 1 fed=x 1859 (2) 1 fe¥=w 1858
(3) 1 7R 1857 (4) 1 s 1858
Afterthe revolt of 1857, on which date all the powers of the Indian State were transferred
to the Queen of England.

(1) 18t December 1859 (2) 15t December 1858
(3) 1%t November 1857 (4) 15t November 1858
44, 3.1 187579 Tt “gfeTm o=’ T SR,
(1) ¥ HreT S (2) fofim um s
(3) e S (4) =g s
During 1875 established the ‘Indian League’.
(1) Anand Mohan Bose (2) Shishir Kumar Bose
(3) Man Mohan Bose (4) Wyomeshchandra Bannerji

45. WA IV FHRAT 91 JieHd IETHTERE] W5a7 AaaR 9 TR 0T aiqe 8l ?

(1) AIEG-<a®E HIFET (2) TR-TgsHe famst

(3) Ased JISHT (4) 1935 =1 GUHON HET
Separate Electorates for the untouchables were granted by

(1) Montegue-Chemsford Act (2) Ramase-McDonald Award
(3) Wavel Plan (4) Indian Act 1935

HoAT THIATATE! ATT/SPACE FOR ROUGH WORK
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a6. e T FHrE Tl sTRr g dea s e 8w

(1) oY stfremTTen fad axffacamz
(2) Heddier oA SRS
(3) qwaTE ek faen it aeffea e wigata e

(4) HESEN ATRULT e AT

ERM

The first conference of Indian National Congress was shifted from Pune to Mumbai

(1) Due to the opposition of the people of Pune
(2) Due to the demand of the people of Mumbai
(3) Due to the outbreak of viral diseases in Pune

(4) Due to the International importance of Mumbai

47. oA 0 iR {8 A 1893 T RIS TSI
(1) I BN AT (2) TGLE Fosdd FTH
(3) IR g AW (4) 3T T

Mr. Rand, the Plague Commissioner of Pune was assassinated in the year 1893 by

(1) Damodar Hari Chaphekar (2) Vasudeo Balawant Phadake
(3) Ustad Lahuji Mang (4) Anant Kanhere

48. [feer et Tt i St 7 *
(1) == (2) HITHIT (3) M= (4) yiifaremg

Where was the Muslim League founded ?

(1) Dhaka (2) Kolkata (3) Chitagaon (4) Murshidabad

'

49. SITeTe FIEvil SHTeAT Mot STeRei et ?

(1) «ie frgq (2) @S g

(3) @iE TR (4) =iE w=

Which Governor General was responsible for partition of Bengal ?
(1) Lord Rippon (2) Lord Duffrin

(3) Lord Dalhousie (4} Lord Curzon

FoAT HHHIS! WAUTT/SPACE FOR ROUGH WORK

A

P.T.O.
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50. WIET =T GENE T AT ST Tl
(1) @R 7 (2) A
(3) Taamen wma (4) TERT dAT8
ied the Bardoli Satyagraha.
(1) Sardar Patel (2) M. K. Gandhi
(3) Vinoba Bhave (4) Mahadeo Desai
51. WRar ‘fiame’ e[ HvmE sieEs 9 7
(1) =t T (2) Tt e
(3) Tazma zmr (4) zreramd o
Who is known as the ‘Grand Old Man’ of india ?
(1) Justice Ranade (2) Ferozshah Mehata
(3) Rabindranath Tagore (4) Dadabhai Nauroji
52. HERIIdIE 37T shif~iehTieh shiv By 7
(1) T=R #iea 1 (2) TrerTs A
(3) . a1 W (4) I sedd Feh
From among the following who was the earliest revolutionary in Maharashtra ?
(1) Raja Ram Mohan Rai (2) Dadabhai Nouroji
(3) V.D. Savarkar (4) Vasudeo Balwant Phadake
53. WEWM Bied ATl Geda Y e hel.
(1) werem meh (2) wEEH HA
(3) ufed I5w (4) AR e
was the founder of Home Rule movement in Maharashtra.
(1) Mahatma Gandhi (2) Mahatma Phule
{3) Pandit Nehru (4) Lokmanya Tilak
54. 3. 9. 1911 9= STTeT= Hreavf} T A= SIgom _ A et
(1) i< gia (2) = S
(3) TEE AR (4) fodm uresie
The declaration of cancellation of the partition of Bengal in 1911 was done by
(1) Lord Curzon (2) V Georje
(3) Govt. of England (4) British Parliament

T HIATATS! AT/SPACE FOR ROUGH WORK
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55. WIIAshi W@U=T & TEIs 988 FI0 g1 7
(1) werear M (2) A fezs
(3) faam T (4) I TS
From among the following who was the founder member of the Swara] Party ?
(1) Mahatma Gandhi (2) Lokmanya Tilak
(3) Chitaranjan Das (4) Justice Ranade
56. Y 94T 2F w1 B 7
(1) TEE T AR T (2) Tt ST rfden 90
3) ffew ar=rmia s (4) FETHER IS TE O
What was the aim of the ‘Swaraj Party’ ?
(1) Boycott the foreign goods (2) Support the Indian Industries
(3) Dominion status (4) Non co-operation movement
57. AT Teg SRSl FoaTT SRI5aUd TV A % anre
(1) 3.49. 1855 (2) 3.4. 1856 (3) 3.4. 1857 (4) 3. 4. 1858
Since when was the Governor General of India known as the Vice-roy of india 7
(1) 1855A.D. (2) 1856 A.D. (3) 1857 A.D. (4) 1858 A.D.
58. EINE TGl TqErale TR WERHT 1928 Ael v HoedT 194 Hel 7
(1) wasi= afts g9
(@) TR
(3) fegram Oniee fafss smfirgm
(4) a9 .
Under the leadership of Chandrashekar Azad, which organisation was established
by Sardar Bhagat Singh during 1928 ?
(1) Nawajeewan Sainik Sangh
(2) Gadar
(3) Hindustan Socialist Republican Association
(4) Navabharat
59. -3 ied HivegT 99 & Fiet ?

(1) 1852 (2) 1853 (3) 1854 (4) 1855
In which year were Bombay and Thane connected by rail ?
(1) 1852 (2) 1853 (3) 1854 (4) 1855

Foedl RITETET ANT/SPACE FOR ROUGH WORK
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60. WERTTdIel ArTfeteh, Tfifes YU Jeaidia Hivie wfag gumes ‘dewfEaard’ a1 Tem dieas
1 i ?
(1) g B (2) werea s T
(3) TuTes B 3vm@ (4) TIYTE5 TIONT STRTERT
Which social and religious reformer from Maharashtra was popularly known as
Lokhitwadi 7
(1) Jyotiba Phule (2) Mahadeo Govind Ranade
(3) Gopal Hari Deshmukh (4) Gopal Ganesh Agarkar
61. <INUY TAER g hivfl et ? .
(1) wereH B (2) wered Mieh
(3) A fee (4) T, 21, wEE
Who led the Champaranya Satyagraha ?
(1) Mahatma Phule (2) Mahatma Gandhi
(3) Lokmanya Tilak (4) V.D. Savarkar
62. ‘uisgdl 3frg MM T ¢ giEwn’ & Uy ol forfEen ?
(1) wmerarg s (2) e Ay
(3) 3. <1, g (4) <A o
is the author of the book “Poverty and Unbritish Rule in India”.
(1) Dadabhai Nauroji (2) Lala Lajpatroy
(3) V.D. Savarkar (4) Lokmanya Tilak
63. SR TS TTqAT FHof et ?
(1) 2= Ran (2) W= uid) HvE wa
(3) dfsa $raan R (4) TS Agd W
Who founded the Brahmo Samaj ?
(1) Henry-De-ro-Zeo (2) Maharshi Dhondo Keshav Karve
(3) Pandit Ishwarchandra Vidyasagar (4) Raja Ram Mohan Roy
64. ‘T Hell TR W, Wl grETen WA 957 § HIv Teee ?

(1) g™ =5 9™ (2) RE TR

(3) g@a (4) wTa f&m

Who said “You give me blood, | will give you freedom.” 7

(1) Subhash Chandra Bose (2) Narayan Guru
(3) Sukhadeo (4) Bhagat Singh

HOTST HIATATS! TRTT/SPACE FOR ROUGH WORK
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65. TNUTE IO SIPTIERT I TEEAT=aT HIvrcl Tehr HUEld el el ¢
(1) &= (2) HHay
(3) = e 3w =i (4) sgfoa fasr
Which work of Shakespeare was translated into Marathi by Gopal Ganesh Agarkar ?
(1) Hamlet (2) Macbeth
(8) The Merchant of Venice (4) Julius Caesar
66. TcIRIHE: GHISTE JEIH FHIUd B ¢
(1) gur (2) &l (3) ¥FEy (4) W
What was the Mouthpiece of Satyashodhak Samaj ?
(1) Sudharak (2) Kesari (3) Deenabandhu (4) Prabhakar
67. vt wvg MERTS 3= fram w13 Rt ?
(1) @@t (2) TSIhIZ (3) AW (4) e
Where did Rajarshi Shahu Maharaj had his higher education ?
(1) Baroda (2) Rajkot (3) Jaipur (4) Gwalior
68. WY g WEWH ‘&TSTIEE a1 TeTaL TE9er v Ao et !
(1) TR FeS (2) TRIE ALAT TS
(3) TRy WSt (4) < AT
Who was the first to be appointed as ‘Kshatrajagadgury’ by Rajarshi Shahu Maharaj ?
(1) Gangadhar Kamble (2) Sadashiv Laxman Patil
(3) Narayan Bhatji (4) Dattoba Salvi
69. ‘T mufies e Hee’ ar T TeeEr Siof Feft ?
(1) TSI Ty AEwr (2) i, aEETRs AEEH
(3) WA $od (4) weff =3
Who founded the ‘Grama Prathamik Shikshan Mandal’ ?
(1) Rajarshi Shahu Maharaj (2) Dr. Babasaheb Ambedkar
(3) Mahatma Phule (4) Maharshi Karve
70. 2. IEHRS EEH A T IE HIS Tl ¢
(1) s (2) TR (3) wErE (4) Tard
Where did Dr. Babasaheb Ambedkar burn “Manusmriti” ?
(1) Nashik (2) Ratnagiri (3) Mahad (4) Mumbai
HoeT HIHTATS! R/ SPACE FOR ROUGH WORK P.T.0.
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71. TS T 9 qanet a9 Hivft ohe) ?
(1) IPHER (2) fez= (3) afisiEa (4) g WEWS
Who started ‘Patil School’ and Talathi School’ ?
(1) Agarkar {2) Tilak (3) Ambedkar (4) Shahu Maharaj
72. ue Fa afgen faerdieand 2unft wwf feh ?
(1) 2 (2) St (3) @ (4) Tl
Who gave donation to Maharshi Karve for women'’s university ?
{1) Tata {2) Thakarsi {3) Ambani (4) Birla
73. GwINSE 998 9 6 1923 el B Sush A g A 7 o
(1) &< i@ (2) fegrom =
(3) % IW SHE (4) FIES
Which English daily was started by Subhashchandra Bose in the year 1923 ?
(1} Dehli Mail (2} Hindustan Times
(3) Free Press Journal (4) Forward
74. 3 Heq A |fiTd TR AFRETN 3 HS Fead !
(1) ™ (2) TR (3) #@ (4) Had
From where did Usha Mehata run a radio station herself remaining underground ?
(1) Pune (2) Nagpur (3) Mirat (4) Mumbai
75. QfaTE FET ST A W] HIRE ATHEE v 8 7
(1) FHHER (2) <
(3) Froft SR (4) =aTh
Who were in the forefront at Solapur in the Civil Disobedience Movement ?
(1} Zamindar (2) National leaders
(3) Mill workers (4) Traders
76. . 7. SIPRERTT =Y ST TperE! TUTHAT Hiviedt FNT el ?

(1) 3. 4. 1880 (2) 3. 9. 1881 (3) 3.49. 1882 (4) 3. 9. 1883
When did G. G. Agarkar establish New English School ?
(1} 1880 (2) 1881 (3) 1882 (4) 1883

HET HRINTATI AT /SPACE FOR ROUGH WORK
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77.

YIT§, WERISIH! hIcETIUd hivTedl YURU 9847 Hved 7

(1) argegal 9 v famo

(2) veeT g faliy

(3) wreifaarE® fay

(4) wdre et s

What social reforms were brought about by Shahu Maharaj at Kolhapur 7
(1) Abolition of Untouchability and Caste Distinction

(2) Opposed Parda System

(3) Opposed Child Marriages

(4) Banned Sati System

78. ‘SEl s ‘muer € guw ivft ¥E el ¢
(1) T anifor e (2) e smfvr Favssurnt
(3) TorvagumER 1T IR (4) =R FofiE) T
Who started the newspapers ‘Kesari’ and ‘Maratha’ ?
(1) Tilak and Agarkar (2) Tilak and Chiplunkar
(3) Chiplunkar and Agarkar (4) None of the above
79. TEW G AN FHIQ Ten fAted A 7
(1) TemR (2) el IwET
(3) IR S (4) TRV FEa
Which one of the following books is not written by Mahatma Phuie ?
(1) Gulamgiri (2) Jatincha Uchhed
(3) Shetkaryancha Asud (4) Brahmananche Kasab
80. IV T, ATeSHT FAUA Togd ?
(1) sfem (2) TFEIEH (3) wmal (4) Fg4 W
Which newspaper was not launched by Dr. Ambedkar ?
(1) Harijan (2) Mooknayak (3) Samata (4) Prabuddha Bharat
81. TR TRUT ke dH-aguie wma _ &1 Higsd.
(1) T (2) W@ (3) T 7 (4) smft g
About three-fourth portion of Maharashtra, has 30ii.
(1) Aluvial (2) Regur (3) Forest soil (4) Lateritic
T BT ARM/SPACE FOR ROUGH WORK P.T.O.
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82. WGV G 99 AeT a8 HE ST FEn tge arear 2009 =41 SESTCER NERIEE daia
Wgf¥ JTEL IO 7
(1) g3 (2) =m (3) TR (4) TR

Which is the most polluted city in Maharashtra as per the Minisiry of Environment and
Forests (MOEF) and Central Pollution Control Board (CPCB) report for the year 2009 ?

(1) Mumbai (2) Thane (3) Chandrapur (4) Nagpur

83. e IO 3Nt faeiaTa wald AaT STsUE! FIET A 7

(1) wigad FaaLal (2) FrasEmEn e

(3) ¥=rER (4) ToeqomEn v

What is the major obstacle in rural economic development of India ?
(1) Shortage of capital (2) Lack of planning

(3) Corruption (4) Lack of education

84. WA THIVIES shivren vangarar ffvea shefl el a1 7
(1) 8230 uffsm  (2) 28°30° @ (3) 82°30" @@ (4) 28°30° 9fr=m
Which longitude determines indian standard time ?
(1) 82°30"west (2) 28° 30 east (3) 82°30"east (4) 28° 30’ west

85. 21er o g WA F (SHRRYY) VR FEat R 7

(1) gavim@n (2) T (3) wHa (4) wremh
On the banks of which river Tata Iron and Steel Company (Jamshetpur) is located ?
(1) Suvarnarekha (2) Ganges (3) Narmada {4) Brahmni

86. AT ¥AE WA FIn gaef AR 7
(1) e
(2) AR
(3) FEHd 3y e J Hahe
(4) dTEE I I
What is Operation Flood Programme related to ?
(1) Flood control
(2) Flood management
(3) Increasing milk production and procurement

(4) Increasing food production

HeoHT RIATATET AN/ SPACE FOR ROUGH WORK
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87. = T todd AT SIS AR 7
(1) T3 (2) Tushauare
(3) e (4) TRER
Where does the South Central Railway have its headquarters ?
(1) Mumbai (2) Secunderabad
(3) Gauhati (4) Gorakhpur
88. TERI= TE-ufvam forammen afionr faear
(1) = a1 (2) e AR (3) e IR (4) ATeT TR
North-South extent of Maharashtra is its east-west extent.
(1) Lessthan (2) More than (3) Same as (4) Differentfrom
89. YR a1 & Wefiatsh! shIveg) SR WEan FHTES Sged ¢
(1) IEET 18R] weu (2) FIHUAHR SIS T&N
(3) =i o o= = e (4) SEREEN S Wew
In which of the following regions, regur soil is observed on a large scale ?
(1) Deccan Plateau region (2) Konkan hills
(3) Narrow coastal strip of Konkan (4) Bhamaragad hills
90. TERISIA TRESTAT AFT YA FhivIca] TG e 7
(1) 3= wrTd (2) dfvam vrTd
(3) MY STRTIE (4) T 9T
Where are the majority of the coconut gardens seen in Maharashtra ?
(1) North-Eastern part (2) Western part
(3) South-Eastern part (4) Central part
91, e Y Ffidt e st ?
(1) e (2) we (3) (4) e I3
What does Maharashtra Plateau owes its origin to ?
(1) Diastrophism (2) Deposition (3) Earthquake (4) Fissure erruption
92, Weias Hive foearma @i foga oz 7
(1) (2) ==g (3) e (4) T
Which of the following districts has abundant mineral resources ?
(1) Pune (2) Chandrapur (3) Beed (4) Solapur
FoAT HIFMTS AT/ SPACE FOR ROUGH WORK - P.T.O.
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93.

22 {NERN R

eI Weiiaaeh! Hive Y Faia It Stafafera smeesd 7

(1) ufvemEe (2) WFgER (3) WeHR Weu (4) Towersy e
Which of the following regions of Maharashtra has maximum biodiversity ?

(1) Western Ghats (2) Satpuda range (3) Melghat region (4) Chikhaldara hilis

94.

TRATHE YISl &7 Wiefierieh! 3T U9 FIvd ?

(1) TeTa (2) wWERTR (3) afifean (4) wfierg
Which of the following states is a pioneer in wind energy generation in India ?
(1) Gujarat (2) Maharashtra  (3) Orissa (4) Tamil Nadu

95.

e arEdaRita st frdt o 8 foas G o e ?

(1) 35% (2) 80% (3) 40% (4) 60%
What percent of cultivated area is under drip irrigation in Maharashtra ?
(1) 35% (2) 80% (3) 40% (4) 60%

96.

uy], Wit 3 Gt 27 gaie 0 FOTETS THe el gaSia Gl HE 999 Sel !
(1) 1970 (2) 1974 (3) 1972 (4) 1980

When was the Wild Life Protection Act passed by the Parliament for protection of
wild-life and natural vegetation ?

(1) 1970 (2) 1974 (3) 1972 {4) 1980
97. TUHAT YA Wo¥ 1Y TET Als@an sl ¢
(1) f wst=r=n wew (2) A g S
(3) TSI BRAT WoW (4) aws
How is the region to the east of Sahyadris described as ?
(1) Very heavy rainfall (2) Wetdrought
(3) Rain shadow (4) Terai
98, VKl et et AT fiesd ?
(1) ardf (2) wEt (3) HeTal (4) o
Which river joins the Arabian Sea ?
(1) Tapi (2) Kaveri (3) Mahanadi (4) Krishna
99. Hivrdl et ufvem anfet amd ¢
(1) 3818 (2) an (3) TEferm (4) SO HordiE Tl
Which is not a west flowing river ?
1) Ulhas (2) Waitarna (3) Kundalika (4) None of the above
W% . - TWRT . ATTI/SPACE FOR ROUGH WORK
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100. Greflade v ARTeT agds =EamET A ged ?
(1) FramtaR s
(2) fafm=
(3) g 9 e T SEd
(4) et Wi
Which of the following is the feature of quaternary activities ?
(1) Dependence on nature
(2) Exchange
(3) Based on research and development
(4) Processing of material
101, TR FTYH ITEGTHAIS! HIvET foram amer e 7
(1) 9fvas HerTse (2) s amfor nraaTen
(3) (4) ST HEWTR
Which region produces maximum cotton in Maharashtra ?
(1) The Western Maharashtra (2) Vidarbha and Marathwada
(3) Kokan (4) The North Maharashtra
102. TR 2E) Fhic3I=n UGG FIMAIE! AT hell Srat 7
(1) R faega il (2) snfoze S
(3) et fargga et (4) R e
What is coal in Maharashtra prominently used for ?
(1) Thermal power (2) Atomic power
(3) Hydro power (4) None of the above
103. frenfirr foemanefi e ordt deen 778 ?
(1) Ferim (2) mEm Uew foeft memes
(3) TS Trel (4) =it ol e
Which Institution is not related with industrial development ?
(1) SICOM (2) MSFC
{3) Both the above {(4) None of the above
Hoedl THIHTETS! AR/ SPACE FOR ROUGH WORK P.T.O.
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104.

24 IO

1941-1961 H3ft 20 awi=ht T wieft Ao @raag s el = deEe 919 ®F 8 7
(1) ‘gerd A (2) TR A
(3) g A (4) G-I A

A 20 year road construction scheme was planned in the pre-independence period
from 1941 — 1961. What was the name of the scheme ?

(1) ‘Mumbai Scheme’ (2) ‘Nagpur Scheme'’

(3) ‘Pune Scheme’ (4) ‘Mumbai-Pune Scheme’
105. ©9 2011 =N GIFHUEN FHOHTAR FENd Tiala=h Takan! #9 e 7

(1) 47.80% (2) 74.30% (3) 82.91% (4) 79.81%

What is the literacy percentage in Maharashtra as per 2011 census report 7

(1) 47.80% (2) 74.30% (3) 82.91% (4) 79.81%
106. HEAITA fermurr wivren fegma wata &l o1me ?

(1) s (2) hieRT (3) ITHMTEE (4) e

Which district of Maharashtra has the least females per thousand males ?

(1) Beed (2) Kolhapur (3) Usmanabad (4) Jalana
107. TWUEEER 3T HEEET FivT TETEER STHA ¢

(1) &E= (2) dehg uE (3) TmEEH (4) Tl

Who is responsible for the daily work of the Grampanchayat ?

(1) Sarpanch (2) Police Pati (3) Gramsevak (4) Talathi
108. WA TRYH T IR SHa= TR gER oRd’ 318 vl reed 7

(1) Hfsa e , (2) T=EAY T

(3) wETeT Mt (4) . FESH

Who said “The Indian Constitution will be according to the Pubiic Will" ?

(1) Pandit Nehru (2) Manvendranath Roy

(3) Mahatma Gandhi (4) Dr. Ambedkar
109. fofufrmmdesfiem weamare e ?

(1) & 2) frm (3) fadas (4) wmroft

What is the draft proposal of a law known as ?

(1} Resolution (2) Ordinance (3) Bill (4) Demand

FoeTT HINTATST AT/ SPACE FOR ROUGH WORK
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110. WA 9N &1 fawa siven aEia/gfuad gafase e 7
(1), F= (2) T4 (3) @wradl (4) HEa T
In which list are the “Foreign Affairs” ?
(1) Union (2) State (3) Concurrent (4) Center and State
111, fSewr ofteea waia mewamh afid o ?
(1) foa wfircht (2) T wfEeh
(3) ot A (4) S Al
Which is the most important Committee in the Zilla Parishad ?
(1) Finance Committee (2) Health Committee
(3) Standing Committee (4) Agricultural Committee
112, T AFANF T e GHIST=AT i GeT= 0 FHLdrd ¢
(1) 9wt (2) SFfaTH T
(3) M (4) il sfe
Two members of which community are nominated to the Lok Sabha by the President ?
(1) Parsi (2) Non-Resident Indian
(3) Jain (4) Anglo-Indian
113, 4% 39 WA Geds Tl 13 3R 7
(1) (2) TR (3) wfirh (4) 3m
Where is a bench of Mumbai High Court located ?
(1) Pune (2) Nagpur (3) Nashik (4) Thane
114.  awe arfior ST ITEREEE ™ v
(1) 9 99Tgd (2) RGOS
(3) e aftwe (4) v=maa i
How is the Rural Local Government in India known ?
(1) Gram Panchayat (2) Panchayat Raj
(3) Zilla Parishad (4) Panchayat Samiti
115. =TESITET HIEFR! TH@ hivl 37541 7
(1) TsAUrd (2) sgudt (3) e (4) T =
Who is the Chief Executive of a State ?
(1) Governor (2) President (3) Chief Minister (4) Chief Justice
FHoed] RINTATS AW/ SPACE FOR ROUGH WORK P.T.0.
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116, 3°9 IR g =iy TvE F0 sl ?
(1) ST gea e (2) TSI
(3) Tgu (4) AbRE
Who appoints the Chief Justice of a High Court 7
(1) Chief Justice of India (2) Governor
(3) President (4} Council of Ministers
117. 99Td A SEsdEe HivT HeR a7
(1) d9md aft (2) T=IHER
(3) faum ufeyg (4) Toreer uftag
Who sanctions the budget of Panchayat Samiti 7
(1) Panchayat Samiti (2) State Government
(3) Legqislative Council (4) Zilla Parishad
118. WNATG FE HiomeeT e HIv 3T 7
(1) Tsgudl (2) AREMT AT
(3) TaNEH (4) fom =i
Who presides over the meetings of central cabinet in India 7
(1) President (2) Speaker of Loksabha
(3) Prime Minister (4} Finance Minister
119, TERIHIE JYa STt 3 Surdiare! fedt faamas saerey wdie smed 7
(1) 52 "~ (2) 53 (3) 54 (4) 51
How many legislative assembly constituencies are reserved for Scheduled Castes
and Scheduled Tribes in Maharashtra ? :
(1} 52 (2) 53 (3) 54 (4y 51
120, WIETT 99 AT FI07 371 7
(1) dawEH (2) TsgaT (3) gt (4) g =TT
Who is the first citizen of India ?
(1) Prime Minister (2) Governor (3) President (4) Chief Justice
121, THHAT 3 HARETHMH T 7 HigATaT AT 3@,
(1) == (2) o= (3) =W (4) @e

The gap between two sessions of Parliament should be less than
months.

(1) Two (2) Three (3) Four (4) Six

Hesdl HATHATE! ATT/SPACE FOR ROUGH WORK
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122, ST Jfvar 309 Gnd Bt dee Hiuieg swEws B,
(1) am A (2) T2 TNA
(3) <= @yd (4) wEIT
The Council of Ministers is said to be dissolved when passes a
non-confidence motion.
(1) The General Public (2) The Rajya Sabha
(3) The Lok Sabha (4) Parliament
123. S@dad Hedl SN RIeRA e T=™a T99 g wWia .
(1) &= (2) A (3) I+ (4) T
The Balwantrai Mehta Committee recommended a tier Panchayat
Raj System.
(1) Three (2) Two (3) Multi (4) Single
124, TENURT YETEd TSATs TT9AT shft et ?
(1) 171960 (2) 19 1961 (3) 1 71962 (4) 1 #1965
When did the Panchayati Raj System come into force in Maharashtra ?
(1) 1 May1960 (2) 1 May 1961 (3) 1 May 1962 (4) 1 May 1965
125, U TS FEFTRITICIchat IV 7O Fard ?
(1) =R (2) ==
@) e foFm sfemr (4) R
Who is appointed by the State Government to the Municipal Corporation ?
(1) Mayor (2) Commissioner
(3) Block Development Officer (4) Collector
126, T 31iF gaA ofc Tiee Yoeaivies ¥3 SaUST FIT 37=d ?

(1) I @@= (2) wmEEE @H

(3) @ (4) &% ot @A

Who is the brand Ambassador of the Ministry of Women and Child Development ?
(1) Salman Khan (2) Shahrukh Khan

(3) Amir Khan (4) Saif Ali Khan

oo HIHTHTE ATTT/SPACE FOR ROUGH WORK
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127. T e GagTa qa T Frdemermred serosgrn faan s anrat ?

(1) ufgen (2) g&Q (3) fawu (4) <t

Where does Maharashtra stand in the recently carried out survey of human

development ?

(1} First (2) Second (3} Third (4) Fourth
128. VAR VT TSATG Tawa vehear 7eet siffam 2010 &np sen e ?

(1) wTeH (2) AEFYRY

(3) feursra wem (4) T YT

Which is the first state to implement the Lokseva Guarantee Act 2010 ?

(1) Karnataka (2) Madhya Pradesh

(3) Himachal Pradesh (4) Uttar Pradesh
129, TAWHN TR A ot ot gE FIoand s ?

(1) 1995-96 (2} 1998 — 99 (3) 2000 - 01 (4)y 2002 -03

in which year was the ‘Prime Minister Gram Udyog’ scheme started ?

(1) 1995 — 96 (2) 1998 — 99 (3) 2000 - 01 (4) 2002 —03
130. “‘avun &’ wefied wron g IR 999 € 7

(1) 7o FIR T foraor s (2) STvoTT IR G FHETA

(3) formr 9t 3 Flia= (4) ala 14

From among the members of Team Anna who were in Govt. Service before ?

(1) Anna Hazare and Kiran Bedi (2} Anna Hazare and Kejriwal

(3) Kiran Bedi and Kejriwal (4) All the above
131, Fvmn fega s Wes foga o[ wisen sl ?

(1) 21 A= (2) 25 AT (3) 27 TR (4) 29 3T

Which day is celebrated as an International Sports Day ?

(1) 21 Aug. (2) 25 Aug. (3) 27 Aug. (4) 29 Aug.
132. gea UNO < 37387 o1 371 7

(1) wer@ gea (2) =-TA-Er
(3) FAE-HI-T7 (4) SR I
Who is the present President of the UNO ?

(1) Nelson Mandela (2} Choen-Lie
(3) Baan-ki-Mon (4) Barak Obama

Feed] RIMTHTET AFTT/SPACE FOR ROUGH WORK
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133. @ fafoamed sreanfaws, BRid e @i & s ?
(1) g&h g (2) et TR
(3) WEE T (4) &ureeT TR
Presently who is fighting against the establishment in Libia ?
(1) Husni Mubarak {2) Colonel Gadafi
(3) Mehmood Abbas {4) Basharul Asad
134. WERIRIE TV Tl foregmafiat a1 7
(1) 35 (2) 36 (3) 34 (4) 33
How many Zilla Parishads are there in Maharashtra ?
(1) 35 (2) 36 (3) 34 (4) 33
135. WRATAIS HIUET THU=a 8 qaid € g 7
(1) wfEmm 2) Bgu (3) fafera (4) &
Which state in India has the smallest area ?
(1) Haryana (2) Tripura (3) Sikkim (4) Goa
136. A=A 8= e wy o sed ¢
(1) < fosg om G (2) SR d9E L
(3) v (4) . .
Who is the present Chief of the Indian Army ?
(1) General Vijay Kumar Singh (2) General Deepak Kapocor
(3) General Veej {4) General J. J. Singh
137. STTide SR 69 (WTO) T&ed His T8 ¢
(1) Tt (2) T (3) AfFem (4) e
Where are the headquarters of the World Trade Organization located 7
(1) Geneva (2) Rome (3) Manila {4) London
138. AT SIVIET SEHTSATE! woad He1 SAfkaeard o1e ?
(1) F=2 (2) TETE (3) A (4) <oy =hifvhe
Which state has a separate Constitution in India ?
(1) Kerala (2) Meghalaya (3) Assam (4) Jammu and Kashmir
ool HATETE ARTT/SPACE FOR ROUGH WORK P.T.O.

A



ERM 30 JUIRTEIHT
139. fagren g vd fF 328 o fag e 7

(1) 1. Areme J1ea (2) #ft. TwiEed reET
{3y simey g g1 (4) . o AR
Who has been elected as the Chief Minister of Bihar three times ?
(1) Mr. ialu Prasad Yadav (2) Mr. Ram Vilas Paswan
(3) Mrs. Rabadidevi Yadav (4) Mr. Nitish Kumar

140, #2010 W i anfer Tt Tl AT YUE HE e shedl.
(1) <= (2) sl (3) uTfehE (4) <fam =ifen
indiaand ____ _ signed a New Social Security Agreement in Oct. 2010.
(1) Japan (2) Germany (3) Pakistan (4) South Korea

141, “awdl ges 577 w1 S el g e s v
(1) 10 IHadT (2) 10 fede (3) 10 T=gR (4) 11 fed=
Which day is celebrated as a “Human Rights Day " ?
(1} 10" January (2) 10" December (3) 10" November (4) 11" December

142, &=h g BT FHo AiEE RERH F398 gE Fel 7
(1) At o (2) gum @0 (3) ghan g2 (4) Tl ssi
Which woman Parliamentarian has started a movement against female foeticide ?
(1) Ambika Somi (2) Sushma Swaraj (3) Supriya Suley (4) Mamata Bannerji

143. framass fFd getg ge oy v&d 7

(1) 60-500 (2) 50-300 (3) 40-400 (4) 25-300
How many members can there be in a legislative assembly ?
(1) 60-500 (2) 50-300 (3) 40-400 (4) 25-300

144. R Fivreq faardiEzm Smde a3t man fGerdemn st fiw ?
(1) T3¢ merme fEams
(2) wEh Faamdie
(3) gwEaus FeEm A foardi3
(4) Zfen el g Toredts
To which University has the UNESCO granted the status of the Largest University of
the World ?
(1} Tilak Maharastra University
(2) Rahuri University
(3) Yashwantrao Chavan Open University
(4) Indira Gandhi Open University
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145. 99 2008 =1 WeWTs, Had FEd o whioft fyper ?
(1) <EER el (2) ==E™ g
(3) TET 3@ (4) W&z uids
Who won the Maharashtra Kesari Kusti Kitab for 2008 ?
(1) Chandrahar Patil (2) Chandrahas Patil
(3) Babalal Shaikh (4) BRavindra Patil
1486. %uﬁ TREET e Fvmhed FHaes S ?
) Toureqy 9 e s qeammgy
2) TEHteR TARREETqd 9 e AaeR g
(3) F 132
(4) OTe AR gd FagHM
Who elects the members of Legislative Council ?
(1) Leg. Assembly and Local Self Govts.
(2) Graduate constituencies and Teachers constituencies
(3) Both1and2
(4) Directly by the people
147. TEEGA 9t I6 913 -a2 €T ot Rretier o1 7
(1) 5.8 (2) 5.7 (3) 5.6 (4) 55
How many kilometers is the Bandre-Warali Sea-link, the first of its kind ?
(1) 5.8 (2) 5.7 (3) 56 (4) 55
148. 2010-2011 =1 TgTeT et GeHa M9 TEHR TR hive Seanan fyarer 7
(1) e (2) d@w (3) i< (4) iR
Which district of Maharastra got the Mahatma Gandhi Tantamukta Village Award of
2010-2011 7
(1) Gadchiroli (2) Satara (3) Nanded (4) Kolhapur
149, ShTN=AT BT T 7T 7
(1) 91 Baqeen (2) WRFAR
(3) g1 w0 (4) nmTiE sTea
Who is the present Speaker of the Loksabha ?
(1) Nazama Heptulla (2) Meerakumar
(3) Sushma Swaraj (4) Margaret Alwa
150.  3T0UIT BT FHIME AU €A 378 7
(1) U FHTIET (2) SHSIHITE HIIET
(3) TTEIvTI TR (4) A =™
What is Shri. Anna Hajare insisting on ?
(1) Lokpal Bill (2) Janlokpal Bill
(3) Right to Education (4) Social Justice
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(8) wmyfcrae fafed etear fafire s Fed Fm (36 ) wud, wwnfesssafilea sofrea
1 T FEEL Fod FY Fodi™ § F141 HOAT LU hel SR, FY Wil AT F @IIHR
ST A IR sheledn * “qherme glon=n Auyeriran Siaas wrvaramads sifafmg-82"
ATl GTEGHR ATy F0ATT 95at 3 <1 St Satel Uah aNT= sRIaTd it ST /Rt e
Teh g ThiredT <8T=4T {31808 9T Biea.

9) FR weutEaEl A fafga Foeh 92 dueaEm sHeaen € yeAgftae @ Sl
TATR TSR S S @M 3R, 0T U{EITERETTaTet ATogTqe| IEan sTaedT
ITUEFTT AT — 1 AHIAETHTERS A 6@t W w0t 3avas 7.

wgmm
Y F. 201, AR HE I @O AT TR HY w1 7
(1) 377 e (2) Qwifed g
(3) Afawra fifa ameoy (4) 563 79

W I A I (3) Ao fify arent’ 9@ R, =S A g I (3) s
IS WIATATATS . %, 201 TS IT-F0s (D) 3 g quiet grifhd swed
TR0 HATAEF AR,

%.20. O @ @ @
3T Tl W WYkl Weish WeTe gHea JeishHieh B qreTen waaican qefecten

AR 1 1 THHREAR I GaTid Jde quiao) Bratferd F&- craardl. gITehiear
T FTEAT VIS Sierds araea, fge an v O s 1.

HoogT SHTHTATS! AT/ SPACE FOR ROUGH WORK



